[image: IMG_256]

[image: IMG_257]

[image: IMG_258]

[image: IMG_259]
[bookmark: _GoBack]
image1.png
=R (SVEY 530 )

LC 2D 3A 4B 5A 6B 7.C 8B 9.C

SRS (SVES S ER )

=2 12.x=2 5 14.40%
15.M <N 16.2w =28 1. % 18. 6058
EZmEE

19 (AB(1) /N4 53 55(2) /N 6 53,3510 41)
() WA= 8 +4-2x L4144 = 5

=-8+d4-1+1+4-f3

m»*;xtm[h“' -1 < x <3 IR - 1,012

Ui x = 2 WA, Y x = 204, R

10.0

- 34

- 24

= 1gE

20, (/N2 5 3¢8 50 ZRUMEHW AR
(1)8 + 16% = 50(%) =25 pMRAR

(2)50 -8 =10 - 12 - 16 = 4( %) (it ) ®

(33607 % 10 = 115.20

(4“2me = 288(%)

W A A U A




image2.png
20 (H(1) N4 5 5(2) NEE2 5, 5(3) EE4 53,3610 5)
W) A R R A =1,
oA (1,4).
R 4B GERIWR Y =4 Eo 3 = n i
o M BMEREN(2.2). X HABEY = ke +bWERE,
h+b=4 §
s KA
() BRI « <01 <x <2.
(3) 2 fify = -2 +6 552 HIZAN N,
- EN RN 0).

246,

5

CHE: SRR A )
B#(50 %)
HREH(AAMA S 5 WEHE LB RE SRR

22, (1) /N3 51 AD(2) AN G 6T 5)
(1) BRI 1

tana = tan ZLCAB =

iy
A3

Pz
R o % 30",
(2) A PR
HACHECD LABFED.MCD =6,
B OBIER 1+ 1,
TR 1 5,
BD =D =60 =6/5,
5 -6 . PA=8-AB
o A PM R
23, (1) /N 51, 0D(2) /N2 51 35(3) /N4 513610 5)
(1) By 5 RN y = k45,
10845 = 30
16k 4 = 24"

=H-6A>3

#5010,30).(16.29) foA.:{

k=1

Bibhy '« WREMTAR 1 = - 5 +40(10 2 < 16);





image3.png
AGAB 2 ACAE,

LABG = LARC, X LABC + LAME = 50",

LABG + ZAME = 9018 CE L BG.
- WL COER XIS,
) BLGE  BE = a4
BC=3.06 =4/ BE =3,
GE = 6" 4 BE - CF =73,
o= /.
AW )
26, GB(1) /D3 51 952) /N4 IB3) D 53613 55)
W10 MRy = o + b+ BHLAAC-3,0) B(9.0) HE(O.4),
. RMIAGWIAY 5 = alx +3)(x-9).
AC0.8) TRIRE,

4
7

ac

A

4=,

RIS =~ e ) -9 - e daet

s — 25
CDRET y8.00.4).

I PR
RS ST RTE

D HERASY), S e A B
(2) B B AP 2 GO 4.G.0,F 2 CDF 4L B
AFRAy = 3

s B
+gxedmm,

'
i
o8

1, Lgivad
100, x0.F - Lo xpn

x3xd -

L e,
R}

(3) D %0 <1 <381, W82 BT 0,6, % 0D FH M
o, /e, Gt =%





image4.png
Ll P Y
s = 700 XOM = 31 x 31 = 364

@43 < o< 60, 1M 3 B, AC, % 0D T M,0
0D ALY = 3, R

AMBAARBTE (-6 421, -4+ %l,aww 0.6,

0 <is),

e MERBORRAY §

Jr =63 <r6).

LRODFAN
(0-3.0) B0 4) SRR Iy = -S04,

MM K6 -1

#





